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Sub-Section Number: 1
Sub-Section Id: 335472158
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354725931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first woman Governor of Madhya Pradesh? | W& WSS &1 Ugell AlgalT TAUTA ®1d 17
Correct : 1 Wrong : 0

Options :

1. ® sarojini Naidu | T 9195
2. ¢ Sarla Grewal | AT UaTd
3. # Nirmala Bhuj | fHdar 4=
4. # Draupadi Murmu | e gq

Question Number : 2 Question Id : 3354725932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who laid the foundation of research in statistics in India? | YRT ¥ Qiledd! # gae & oy Hig e @i
Correct : 1 Wrong : 0

Options :

1. ¥ CR. Rao | @l3maa

2. ® R A Fisher | XU e

3. ¥ ]| B.S. Haldane | S d.0q.gee

4. ¥ p.C. Mahalanobis | U € aga-iiea

Question Number : 3 Question Id : 3354725933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following accepted Akbar’s Din-i-Ilahi? | 99 # & Trae srey & S-U-5aTa! &1 C@ 0ar?
Correct : 1 Wrong : 0

Options :

1. ® Tansen | &=

2. ¥ Birbal | d&a

3. ¥ Todar Mal | =
4. ¥ Man Singh | 7 g

Question Number : 4 Question Id : 3354725934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which Indian scientist was honored by Google Doodles on hisfher 100th birth anniversary in September

20177 | T ORI ST @1 T G204 A [adex 2017 ¥ AT 100 df S=id T o¥ geatiaa forar am?
Correct : 1 Wrong : 0

Options :

1. #® satyendra Nath Bose | §q34g AT a9
2. ¥ Asima Chatterjee | STHMT ==

3. # Srinivasa Ramanujan | #Ram Tam=-
4. ® Begum Akhtar | a7 SRFeaY

Question Number : 5 Question Id : 3354725935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who amon%rthe following is the first Indian to score fifty international goals in football? | Fgfafea # & ag =14
%, I Geald ¥ e T ATAT UgeAT A 1 27

Options :

1. ¥ [ M. Vijayan | g, UA. oo+
2. ¥ Sunil Chhetri | gHie #41

3. # Subrata Pal | Gad UTd

4. # Baichung Bhutia | awégm qfear

Question Number : 6 Question Id : 3354725936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the name of all-worman expedition of Indian NaV}? that set sailon 11 September 2017 aimed at
circumnavigating the globe? | ﬂﬂﬂ%?ﬁﬁmﬁﬁ ST gl SITHAT ®T 10 &7 3, A1 fof 11 [awer 2017 &1 giaam s #
TR T o IS F AT &l TE?

Correct : 1 Wrong : 0

Options :

1. #¥ Mahila Sarmudra Yatra | AigaT Gqg T

2. ¥ Navika Sagar Parikrama | ATcieT @1 TieAT
3. ® Nari Shakti Abhiyan | AT 9% =T

4. ® Nari Sagar Pradakshina | 1T 9T 0S40

Question Number : 7 Question Id : 3354725937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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which of the following is the capital of the Union territory of Dadra and Nagar Haveli? | TAaAfai@d # & 19 4

Correct: 1 Wrong : 0

Options :

1. ¥ Dadra | greaT

2. ¢ Silvassa | Teamar

3. ® Nagar Haveli | 9T gdeit
4. ® Port Blair | Ui 2w

Question Number : 8 Question Id : 3354725938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

’Oggation Insanivat’ is a prog_ramme launched by Government of India to help refugees from which country?
i T & SROMEIT &1 AgTaT ﬁqmwmaﬁﬁmmmmgﬁ%mw@

Correct : 1 Wrong : 0

Options :

1. # Sri Lanka | &t @@

2. ¢ Myanmar | FIAR

3. ®¥ Bangladesh | SRy
4. % Tibet | [deaa

Question Number : 9 Question Id : 3354725939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘Bhangra’ is the popular dance form of which one of the following states? | THgfeiad # & For T 71 dleiia Toa

Options :

1. ¥ Punjab | ™E

2. # Jharkhand | 3IREE
3. ® Kashmir | R

4. ®¥ Rajasthan | T=ea™

Question Number : 10 Question Id : 3354725940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Palakmati, the first irrigation tank of the erstwhile Bhopal State, is located in_____ . | g AT T T UgAT edTs.
. UATEAAT ______ H e 3

Correct : 1 Wrong : 0

Options :

22nd Dec 17 Shift 2



22nd Dec 17 Shift 2
1. ¥ Raisen | T&@+

2 ® Shahpura | SMgYT
3. ® Umaria | IARAT
4. ¥ Bhopal | ¥

Question Number : 11 Question Id : 3354725941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The most populated city in Madhya Pradesh is_______. | HET U T Fed STEF ATt AT IEC
Correct: 1 Wrong : 0

Options :

# Jabalpur | Jeeq
¢ Indore | 32X
® Gwalior | TEmwAT

® Satna | 9aAT

ol A

Question Number : 12 Question Id : 3354725942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the 12 Jyotirlingas of India is in
Correct: 1 Wrong : 0

Options :

1. ¥ Mahakaleshwar | AETHTERE
2. ® Mukteshwar | e

3. ¥ Videshwar | [a2#er

4. ® Yogeshwar | a1

Question Number : 13 Question Id : 3354725943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When was the Bagdara Wildlife Sanctuary established? | SIS aaild STARYT @i TATHHT Fel T8 17
Correct : 1 Wrong : 0

Options :

1. ¥ 1988
2. ® 1977
3. ® 1980
4. v 1978

Question Number : 14 Question Id : 3354725944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is the Alkaloid factory located in Madhya Pradesh? | We[d Ueq ¥ UrdTelies AT w51 [€d 57
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Options :
1. ¢ Neermuch | da=
2. ® Ratlam | @A
3. ® Ujjain | =4
4. ¥ Mandsaur | AgER

Question Number : 15 Question Id : 3354725945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Samadhi of Rani Durgawati is situated at _______. | T et by gwTE _______ HeFa

Correct : 1 Wrong : 0

Options :

1. ¢ Jabalpur | JeeqC
2. ¥ Damoh | THE

#® Satna | @aAT

4. # Seoni | gRIHT

w

Question Number : 16 Question Id : 3354725946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The temple of Budhi Mai in Dindori is situated on the bank of the river _______. | TEST # 8T OTe @ iey
__________ T ¥ Topeme oY T 21

Correct : 1 Wrong : 0

Options :

1. ¥ Budner | ggr
2. ® Narmada | 98T

# Sudna | ggaT
4. ® Goura | TRT

w

Question Number : 17 Question Id : 3354725947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the famous Jain pilgrimage centre Muktagiri located? | Uieg = diefama g gwri @81 q 87
Correct : 1 Wrong : 0

Options :

1. ¢ Betul | é‘@?f

2. ® Dindori | &2/

# Burhanpur | fEFT
4. ® Rewma | Tar

w
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Question Number : 18 Question Id : 3354725948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The famous holy place, Kedarnath is located in______. | Tieg ufeT Qe FERA, BTG
Correct : 1 Wrong : 0

Options :

1. # Uttar Pradesh | 3qaT ued
2. ¥ Madhya Pradesh | Hea &y
3. ¢ Uttarakhand | Sqa0GEs

4. ¥ Odisha | =TT

Question Number : 19 Question Id : 3354725949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which among the following awards is given to sportspersons by the Government of Madhya Pradesh? |

Taferad QReaR # & @9 97 72 Uy TaR gRT [Earniedl @ ¢l 1T 87

Options :
General Maths and General Aptitude

1. #® Arjuna Award | SR [TEFR
2. ¥ Vikram Award | TO%H [REFR

3. # Dronacharya Award | ITR=ITT [EHFR
4. # Laxman Award | F5AT [{EFR

Question Number : 20 Question Id : 3354725950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The King Edward Museurn building in Bhopal was built by ____. | TE | O USaS Qg WA __ FAL]
[T T &M

Correct : 1 Wrong : 0

Options :

1. ¥ Nawab Sultan Jahan Begum | 9aTd GadT™ g sTH
2. ® Lord Minto | @18 e

3. ® Sajida Sultan | GiiET gea=

4. ¥ Sultan Muharmmed Khan | Ge@= JgHAT @

Section Id : 335472159

Section Number :

Section type : OnlineMandatory or Optional: MandatoryNumber of Questions:
Number of Questions to be attempted:

Section Marks:
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472159
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average age of a family of 5 is 30 years. If the oldest is 70 years, then what is the average age of the
remg;mngpeopleﬂ S Gl & URaR @1 | g 30 a4 21 Iie URaR & qad ot 70 o4 & g, af I9 Al &l e|q g
EE1

Correct: 1 Wrong : 0

Options :

1. ® 16 years [ 16 74
2. 8 25 years | 25 a4
3. ¢ 20 years | 20 T4
4. ® 32vyears | 32 T4

Question Number : 22 Question Id : 3354725952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Aman 1s driving to Babu’'s house wanting to reach at the exact time. If he drives at 60 km/h, he will arrive 5
minutes late. If he drives at 90 km/h, he will arrive 5 mmutes early If he drives at n km/h, he will arrive
exactly on time. What is the value of n? | /¥ ¥g! 977 W Uz frgr & T T ST MET =TAT T5T 31 Al a5 60
Topafty ereT e Y T &, @Y ag S e 28 & smom qﬁ%%%ﬁﬂwu‘( aﬂm%aﬁagsﬁqtusﬁugammaﬁ:
g n Tty o I MEY T £, 91 g fege @g ang ue uge S n @ we e 87

Options :
1.-% 75
2. % 30
3. ® g5
4. ¢ 72

Question Number : 23 Question Id : 3354725953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A letter is chosen from the word “TRIANGLE”. What is the probablhty that it 15 a consonant? | eg "TRIANGLE"
o U TR AT TTIT 81 &1 WTIRiehd T & foF g U ool 57
Correct : 1 Wrong : 0

Options :
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Q| w U] o 0N
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Question Number : 24 Question Id : 3354725954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What power of% do we get dividing 56 by 510?/ 5° & 590 F fysforg = W eH %EFF

AT °1d II°d 8T 87

Options :

l)1|v—n

—

Question Number : 25 Question Id : 3354725955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

12321222 =?

Correct: 1 Wrong : 0

Options :
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Question Number : 26 Question Id : 3354725956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad Haiom
15, 18, 54, 12, 41
Correct: 1 Wrong : 0

Options :
1. % 24
2. ¥ 28
o - 2
4 % 34

Question Number : 27 Question Id : 3354725957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

1. %81
3 ¢ x+1
4 ® x-1

Question Number : 28 Question Id : 3354725958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The two-third of one-half of a number is 18. Find the number. | UF T&4T & 3T &1 g1-1dgls 18 8 9T AT F4

Options :
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1. ¥ 45
2 ¥ 54
3 %9

4 ® 36

Question Number : 29 Question Id : 3354725959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifa*b=2a2 +2ab+ b, then (1*2)*3is____ /TG a*b=al + 2ab+b_ @l (1*2)*3 2

Correct: 1 Wrong : 0

Options :

® 59
v 94
® 91
#® 90

o A

Question Number : 30 Question Id : 3354725960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a town of 351 adults, every adult owns a car, motorcycle, or both. If 331 adults own cars and 45 adults

own motorcycles, then how many of the car owners do not own a motorcycle? | 351 =Ie@! & UF J5C H, Ted®
TAEF TR & UTH BT, HIeTaTg e a7 ﬁgﬁ%%l TAEHT oF UTH FIX 3T 45 %! & U HISTATS1ohed 5, a1 I @ ATletep!
&Y weaT et & Foreer o Mevars el TRt

Correct: 1 Wrong : 0

Options :

a5
® 35
v 3086
4. ® 296

SR

Question Number : 31 Question Id : 3354725961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘if’\xi’ha%t7 is the probability of getting a king in a pack of 52 cards? | 52 Udl & THg (T d Tk T TTH 514 1 ATaaar
FT 5
Correct: 1 Wrong : 0

Options :
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® 552
® 2113
® 3452
V1113

e

Question Number : 32 Question Id : 3354725962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A train 110 mlong passes a pole in 3 seconds. The time taken by the train to pass a platform 165 m long

is______. [ TF 110 T TS T U @ &1 3 A0S H UK Fed 1 51 165 HITT el TelehIH &l U e § Senmat bl _____

Correct : 1 Wrong : 0

Options :

1. ® 45sec | 4.5 d5vE
2. ® ggec | 9 GHIE

3. ¢ 75sec | 7.5 94aE
4. ® 123zec [ 12 G

Question Number : 33 Question Id : 3354725963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The efficiencies of two workmen 4 and E are in the ratio of 5:4, respectively. If A cando a E'giece of workin 12

hours, then B can do it in: | A 3B, ST ATHw! &1 gudd FAT: 5:4 % argud # 3 Ii A et ard &1 12 9 s qaar g,
AT B 39 Topa oAt # e a1 3

Options :

1. ® 18 hours | 18 6

2. ® 165hours [ 16.5 ¢
3. ®¥ 16 hours | 16 &

4. ¥ 15hours | 15 ®¢

Question Number : 34 Question Id : 3354725964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Atul is 30 years older than his son. In S years, his age will be 2.5 times of the age of his son. The present age
of the son is: | A A I 30 W 2T 5 aul #, sﬂ%mm%ﬁ ST 1 2.5 THT g1 ST gF &1 adar arrg%:

Correct: 1 Wrong : 0

Options :
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® 10 years | 10 79
¢ 15 years | 15 7d
#® 20 years | 20 7d
#® 25 years | 25 7W

o R

Question Number : 35 Question Id : 3354725965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the H.CF. of two numbers is 5, their L.C M. is 165, and one of the numbers is 55, then the other number is:
| e <1 GEGTlt BT HEwH A S B, IART fYaH GATecd 165 B, Ud 30 9 Ud @41 55 8, a1 @il Ear gt
Correct: 1 Wrong : 0

Options :

1% 5
2. W15
3. % 75

4 8 2475

Question Number : 36 Question Id : 3354725966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 22x3*x53xk is a perfect square, then the least value of kis__ . /TG 23xPx3xk Tdh q\oﬁ' aar

8, k & wgAdH A 21
Correct : 1 Wrong : 0

Options :

1.8 7
2. ¢ 30
3. ® 25
4 8 15

Question Number : 37 Question Id : 3354725967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

(59)°-1 is exactly divisible by: / (539)¢-1 ﬁ?—_crfm q;o‘[ IGE I i

Options :
1% B}
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2 ¢ 80
3 % 39
4 % 33

Question Number : 38 Question Id : 3354725968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a jewellery shop there are 50 necklaces, out of which 10 are pure diamond sets. What is the probability that
the customer will choose diamond set when picked randormly? | Uer STRIG &1 gﬂgﬁ SO el % gR &, MR & 10 g
BIC o T B A g T HEA U SR AT WIAiRal gl {oF UTger 4 B¢ o 9 1 =2 .

Correct: 1 Wrong : 0

Options :

| e | = LI |

®
N -

Question Number : 39 Question Id : 3354725969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sabita rides a racing cycle at 10 km/hr towards Pinky’s house which is at a distance of 30 km. On the way
back she rides at a speed of 15 km/hr to reach horme. What is her average speed? | @feaT 30 ol &1 g 0¥ &
TehT & O T &I 10 Toreit ) eieT & & arg fover et ST 81 10 oY Uge o fog amd! anf § @ 15 Tt ger &1 nid &

IS Tohe TATd T 31 IE! SiEd Tid a7 37

Correct : 1 Wrong : 0

Options :
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General Hindi
1. ¥ 12 kmjhr | 12 Todt/EET
2. ® 1S kmjhr | 15 Tt/ ERT
3. ® 20 km/hr | 20 Tt eeT
4. ® 25 kmjhr | 25 TrdT/ERT

Question Number : 40 Question Id : 3354725970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the CP of € itemns is equal to the SP of seven times, then what is the profit or loss percentage? | afg 6 aegait
T T e, 7 aEGT o Telopd e o aXTeR &, a1 6T AT 5T Wid9d &7 37

Options :

1. ¥ 14.28%loss | 14.28% gTi=

2. ® 9.09% profit | 9.09% 7T

3. ¥ 7.14%loss | 7.14% g1

4. # None of the above | IU® | & P 51

Section Id : 335472160

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472160
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o et & SR A I A AT FEET S, A FET R -

Correct: 1 Wrong : 0

Options :
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1. ® goiy

2. ¥ g
4. ® Frigwg

w

Question Number : 42 Question Id : 3354725972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tgeal @1 HI-ar ATHT &2 &7
Correct: 1 Wrong : 0

Options :

® Frw AT

[SUBNY I

o

Question Number : 43 Question Id : 3354725973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T Tt & IO H U ATAT & SITEe 90T AT &, 36 Fed & -

Options :
1. ¢V IR
3. ® R

4 ® 3 - e
Question Number : 44 Question Id : 3354725974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Torer sTeg ® URIATSR T WM 51 57
Correct : 1 Wrong : 0

Options :

1. ¥ gay
2. ® guq
3 8 3z
4. v U

Question Number : 45 Question Id : 3354725975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TH @ fere arel g § -
Correct : 1 Wrong : 0

Options :
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1. ¥ =9
2 ® 1ig
ik

4. % wm

w

Question Number : 46 Question Id : 3354725976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HETeT & Uil 99 ® & #1991 87

Correct: 1 Wrong : 0

Options :

1. ¥ w@
2. ¥ 9=

4. ® Frrar

Question Number : 47 Question Id : 3354725977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ST BT RO FAT BT & Toidl U g 19 H & P19 AT 27

Correct: 1 Wrong : 0

Options :

&

W o e
; § %
EEE

-
$

Question Number : 48 Question Id : 3354725978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

' AW T AT fkdg MR A A BT A E?
Options :

1. ® grdt+ 3w

2. % 3@ + W

3. % acg+ W

4 ¢ aid + T

Question Number : 49 Question Id : 3354725979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IUET W A Seg W H BT G187

Correct : 1 Wrong : 0

Options :
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1. ¢ vea
2. ® arguat

3_"38TUGTf
4. ® gEm

Question Number : 50 Question Id : 3354725980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘arfey U | o e T B A 87
Correct: 1 Wrong : 0

Options :

¢ e
4 Qmﬁ

® afda

ol L

Question Number : 51 Question Id : 3354725981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ARTET g # g # & W19 A7 9HE 27

Correct: 1 Wrong : 0

Options :

-t

4 ® Al §HTT

n

(W}

Question Number : 52 Question Id : 3354725982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Frell U |10 AleAT Gera) @ arf g § & i a1 87

Correct : 1 Wrong : 0

Options :

1. ¥ g T @ AleT
2. % megE

3. ® gga gugHT

4. ¥ FgAT

Question Number : 53 Question Id : 3354725983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TA-TGd FT g ©F MG H A R ATR?
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Options :
1. ¥ ga-MEq
2. ¥ ga-med
3. ® ga-mUIg
4 ¢ FET

Question Number : 54 Question Id : 3354725984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TIH & T T FT ST A5l 57

Correct : 1 Wrong : 0

Options :

1. v drw™
2. ¥ wrtwE
3. ¥ g
4. ® g A

Question Number : 55 Question Id : 3354725985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"SI SO B YET, 9 S S
o I 9T SRR 3 Tl e -u?

Correct : 1 Wrong : 0

Options :

1. ® el siwaR
2. ® TR SEER
3. ¥ 31U SFHR
4. ¥ AT SFRT

Question Number : 56 Question Id : 3354725986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JugH o Seg giag - |y

Correct : 1 Wrong : 0

Options :

1. ¢ Ty
2 ® amy
3 ¥ guy

4. ¥ gy

22nd Dec 17 Shift 2



22nd Dec 17 Shift 2

Question Number : 57 Question Id : 3354725987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T | TR ATHTG® Jeg, T TEIR0T ek aq Ty, IGH P19 T1 GHTE & - feq1-Ted ag Ig1d & 196 7 amt arga 1
Correct : 1 Wrong : 0

Options :

1. ¥ fgyauE

2. ¥ goyey U

3. ¢ et AT 9EE
4. ¥ YT gHE

Question Number : 58 Question Id : 3354725988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

mmﬁaﬁqmg%-ﬁaﬁ
A Yo = S’ 6, R g9 A1)
ATepd e TTETE oo |, T ad i geepTq)

Options :
1. ¢ 3Rga |
2 % g@™

AW

Question Number : 59 Question Id : 3354725989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST T T TS AT & -
Correct : 1 Wrong : 0

Options :

1. ® g
R A
® g

M

AW

Question Number : 60 Question Id : 3354725990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FEd # P A T A AR

Correct : 1 Wrong : 0

Options :
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1. ® TorEf

2. ¢ gig qter

3. ® ZurEfy

4. ® zrmie e
Section Id : 335472161
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472161
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Rural Economy and Panchayati Raj

Madhya Pradesh Rural Livelihoods Project (MPRLP) is implemented w1th the active grassroots participation of
e USST TTHIOT ST el Tiea=T=T (THYT & Gl ST €€ UT & T

Options :

1. ¥ Gram Sabha | 70 g7

2. ® Engineering Colleges | ST Hielel
3. ® Zila Panchayat | M vemaa

4. ¥ Employment exchanges | TR &THie

Question Number : 62 Question Id : 3354725992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the rules applicable to Samvida Shala Shikshak employed by Janpad Panchayat or Zilla Panchayat,
as the case may be, for the schools under their control? | U T=THd X AT T=Tad gRT aig aider T i6eew
TR 7T e 4 g, TN 3 Wt § STET 3o e & e 21 2

Correct: 1 Wrong : 0

Options :
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1. ¥ Madhya Pradesh Contract Teachers Rules 2005 | W UeH Fi-eae <=9 ®od 2005
2. ¥ Madhya Pradesh Panchayat Teachers Rules 2005 | At Uy U= ¢ad €od, 2005

3. ¥ Madhya Pradesh Panchayat Samvida Shala Shikshak Employment and Conditions of Contract) Rules,
2005 | He U U=q didar aTeT [@ee (R 3 srgerd Ud 9d) &9, 2005

4. ¥ Madhya Pradesh Zila Panchayat Shikshak Niyam, 2005 | A& W2y e vamag i@y F=m, 2005

Question Number : 63 Question Id : 3354725993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many Regional Rural Banks are there in M P catering to agricultural credit needs? | Ted neyr # fopa= &=
uﬁwﬁw%a’ragfﬁmtﬁam’fmqﬂﬂﬂﬁ%’?

Correct : 1 Wrong : 0

Options :

1% 2
2. ¢¥3
3. % 4
485

Question Number : 64 Question Id : 3354725994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narmme the highest award of Indian Government won by Madhva Pradesh 4 tirmes consecutively? | IRT THR &
I9 Halgd [WERR F1 90 Fq18y AT T T ZRT ATER 4 o1 07y {6 mam?
Correct : 1 Wrong : 0

Options :

1. ® Kisan Sri Puraskar | foram oft &)

2. ® Krishi Ratna Puraskar | F4 & &R

3. ¢ Krishi Karman Puraskar | $T8 #Hd [

4. # Krushak Bharati Puraskar | 9% A4 Q&R

Question Number : 65 Question Id : 3354725995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the source of finance under Swarna Jayanthi Gram Swarozgar Yojana? | el ST ITH TR ISR JIeHT &
3Tl T ST @ 87

Options :

1. ® Loans taken from rural money lenders [ TTHIT @TgerTt & fora mam Jxom
2. ® Donations given by villagers | T ZRT =T mar =

3. ¥ Bank credit and government subsidy | d& FieT TUT GERT SFGH

4. ® Loans given by relatives | gataaf grT e mar For
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Question Number : 66 Question Id : 3354725996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What has been named as ‘DISHA’ by the Ministry of Rural Developrnent, GOI? | TTHI @ A6, YRS TaR
ZRT o ‘DISHA’ A1 T2 mam g7
Correct: 1 Wrong : 0

Options :

1. # Dairy Development Co-operative Societies | 22T SaauHe - TR 2T HraTge

2. # Agricultural Produce Marketing Council | Tifieheaitet NIagd AT e BT e

3. ¢ District Development Co-ordination & Monitoring Comrmittee | 2Teeae SaauHe Fi-ATE-9 UF AT (1T Hider
4. # Rural Development Institute of the government | & SaAUHE & Iee AT g Ta-HT

Question Number : 67 Question Id : 3354725997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AS ;%—I%man De%elopment Report 2015, India’s HDI rank is ______. { T fdeTE RUIE 2015 % SIgaR, YR #7

Correct : 1 Wrong : 0

Options :

1. ¥ 129th { 129aT
2. ¥ 130th { 130aT
3. % 131st 131 @
4. ¥ 132nd 132ar

Question Number : 68 Question Id : 3354725998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following irrigation schemes was launched in 2015 with an outlay of Rs. 50,000 Crores? | 2015
ﬁ‘ﬁﬂﬁrﬁ?ﬁﬁ‘ﬁaﬁmﬁ%ﬁm & &1 118 <t e uiten 50,000 T FIS 17

Correct : 1 Wrong : 0

Options :

1. ¥ Accelerated Irrigation Benefit Programme | TFAeAeS ST eivihe T

2. ¥ Pradhan Mantri Krishi Sinchayee Yojana | WemawaT i &= areem

3. #¥ Pradhan Mantri Krishi Vikas Yojana | WeT=a=T $iy e =

4. ® Integrated Watershed Management Programme | $eUeE dietds AawHe TmH

Question Number : 69 Question Id : 3354725999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The Madhya Pradesh Regulation of Uses of Land Act was enacted in _____. | T wer ifr arfarfem & Sumt @
o o arfarferiia o mam am

Correct: 1 Wrong : 0

Options :

1.8 1997
2. ¢ 1948
3. ® 1958
4. ® 1975

Question Number : 70 Question Id : 3354726000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

For organic materials or crop residue cormnposting, ideally a moisture level of _______ water by weight is
required for optimal microbial nutrient and air circulation. | FTai-e TR AT HHa Serdml oy @, smed &0 q
_______ STl T ek 8T T G, T o SR, SETH AR eI U dod S a1g Galle & el SITaed gl

Options :

1. ¥ 20-30%

2. ® More than 80%
3. v 45-60 %

4. ® Less than 20%

Question Number : 71 Question Id : 3354726001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

India has the largest
Correct : 1 Wrong : 0

Options :

1. ¥ Goat | F@er
2. 8 Cow | T
3. ¢ Buffalo | 99
4. ® Sheep | 9T

Question Number : 72 Question Id : 3354726002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How mg)_n tiers ogganchayats did the Ashok Mehta Committee recormnmend? | &9 AgdT GiHTT & AwTRa & g
vt [T

Correct : 1 Wrong : 0

Options :
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1. #® Single tier | U&d €@¢
2. ¢ Two tier | T &Y

3. ® Three tier | 19 @Y
4. ® Four tier | IR €T

Question Number : 73 Question Id : 3354726003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is MGNREGA? | W &/ &7
Correct: 1 Wrong : 0

Options :

1. ¥ It is an Act passed by the Parliarent | 35 8§92 &R UTiRG U fafaag §
2. ® [tisa guide line [ Ig UF fEar-Faq

3. # It is an order of the central Government | Ig ¥ GCHF & UF AT 3
4. ® [t is a State Government order | Ig Td GLFR FT UF AT &

Question Number : 74 Question Id : 3354726004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is Central Semen Station located in Madhya Pradesh? | W2 Ues H 97 €A €29 @l 09T 57

Options :

1. ¥ Bhopal | AT

2. ® Indore | F2K

3. # Jabalpur | JEeqR

4. ¥ Gwalior | T

Question Number : 75 Question Id : 3354726005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the primary function of ‘Bank Sakhi’ in M P ? | Te uey # ‘dfer adl’ &7 wreriier & o &7
Correct : 1 Wrong : 0

Options :

1. ¥ Obtaining bank loan for herself and friends | T2 & &7 T st @Rfeat & &0 Foor o #e=T

2. ¥ Encouraging people in villages to open bank accounts | Tl # d& @t @1 Giad & &0 @ & HicdTied #eaT
3. # Securing employment in a bank | s& & TSR T GTaT

4. # Supplying tea and snacks to bank staff | & Tt @1 ar oK [ &1 amgfd &=

Question Number : 76 Question Id : 3354726006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For testing soil, the Central government is planning to set up mini labsin _____. { THET o uaigr & oy, 9vg @R A
_____ o ToAT TITTAITEAT TG @ @ AT 9T Bl gl

Correct: 1 Wrong : 0

Options :
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1. #¥ Every Gram Panchayats | Ued@ TTH U=
2. ® State Capital | TS &I THLTAT

3. ® District level | F@T qa¥

4. ¥ Krishi Vigyan Kendras | $1 fae4 #-g

Question Number : 77 Question Id : 3354726007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

It is estimated that India produced approximately _______ metric tons of foodgrains in 2016-2017 crop vear,
according to Agriculture Ministry. | F¥ TATAY & SR, g SATHT AT 7T & foF 9Ra 4 2016-2017 HHA a4 |

AT _______ T GTEITg 1 JcaTe- feram
Correct: 1 Wrong : 0

Options :

1. 8 223
2. ® 453
3. ¥ 363
4. ¢ 273

Question Number : 78 Question Id : 3354726008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following had a vision of Gram Swaraj in India? | FgiARET # & YRT # UTH TG0 &7 €0 et 917
Correct : 1 Wrong : 0

Options :

1. #¥ Rajendra Prasad | TMI= HE1S

2. % Lal Bahadur Shastri | #Te agIge ATEAT
3. ¥ BR Ambedkar | o 3R, SFESHT

4. ¥ Mahatma Gandhi | AETAT el

Question Number : 79 Question Id : 3354726009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The term 'Green Revolution' was first coined in______ .| 'EiT il Seg FT HidUTST UgeT A ______ o Tepar T om

Options :

1. ¥ 1896
2. ¥ 2003
3. ¢ 1968
4. ¥ 1961

Question Number : 80 Question Id : 3354726010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The Food Corporations Act was enacted in _______. | ey T srtefem __ # srrerfeiag T T em
Correct : 1 Wrong : 0

Options :

1. ¥ 1959

2. % 1963

3. ¥ 1964

4. % 1968
Section Id : 335472162
Section Number : 5

Cormputer Knowledge

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472162
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The example for Flash Memory storage device is: | Toisl AT Qe feared @7 IGg &
Correct : 1 Wrong : 0

Options :

1. ¥ OMR | 3IT.UA.R.

2. ® Super disk | g EqF

3. ¥ CD-ROM disc | €121-07 2@
4. ¢ Mermory card | HART @12

Question Number : 82 Question Id : 3354726012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

___________ __is a decorative text styling feature in MS word 2007. | UH.UH. 92 2007 # ________ U@ S@Ried
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Options :

1. ¥ Word Font | 2 Bi-g

2. ® Word Fill | 98 T

3. ¢ Word Art | T2 I

4. ® Word Color | I8 Tt

Question Number : 83 Question Id : 3354726013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

__________ is NOT a font style. [ __________U® B G5 51 &l
Correct: 1 Wrong : 0

Options :

1. ® Bold | didS

2. ® Underline | 3EtaAEA
3. ® Italicize | geforaTsy
4. ¢ SmartArt | THFASTE

Question Number : 84 Question Id : 3354726014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

® yolatile | TARTEA
¢ non-volatile | ATF-TARTEH
# random | tEW

#® used | WFT

ol A

Question Number : 85 Question Id : 3354726015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gﬁm_rl%l of the following is an arithmetic formula in MS Excel? | uAiaiad # & #19 U009, UFdd § U@ /g (4 g3

Correct: 1 Wrong : 0

Options :

1. ¥ SUM

2. ¥ HYERPLINK
3. ¥ DATE
4.

#® ADDRESS
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Question Number : 86 Question Id : 3354726016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which device is required for the Internet connection? | §e3e F-ga & o e TSaTed HT ATaRwar gidl 87
Correct : 1 Wrong : 0

Options :

1. # Joystick | STaiee®
2. ® CDdrive | €121 189
3. ¢ Modem | HIgH

4. ® Pen drive | U9 ST5d

Question Number : 87 Question Id : 3354726017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

%3%1?1 unit in a computer is responsible for making calculations? | #TET § &I |l Je UG F & o] Sqa<arir

Options :

1. ® Control Unit { #ZIA e

2. ¥ Arithmetic Logic Unit (ALU) | srfAfeer @t e (ALU)
3. # Primary Memory Unit | WTSH AEIT T

4. ¥ Secondary Memory Unit | S%E¢ AUIC AT

Question Number : 88 Question Id : 3354726018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You can open the consolidate dialog box by choosing Consolidate fromthe _________ menu in MS Excel 2007, |
TOUE Uadd 2007 e _________ M T L T FETeieT STAANT d1Fd @it TFd ol

Correct: 1 Wrong : 0

Options :

#® Insert | gIEE
# Formulas | BTHAT

1,
2.
3. ® Review | gy
4. ¢ Data | 22T

Question Number : 89 Question Id : 3354726019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Microsoft Excel files have which one of the following extensions? | WIgHIGITE UFdd BIgd H 0T THaca giaT &:
Correct: 1 Wrong : 0

Options :
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® doc
® txt

v xls
® jrg

5

Question Number : 90 Question Id : 3354726020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to select the entire docurnent in MS Word? | TRUE € H [¥ SIHIH @1 deicpe @i & o]
W Gl ATe-Fe Gl T Bd 1 87

Correct: 1 Wrong : 0

Options :

1. ¢ Ctrl+A

2. ® Alt+Ctrl+A

3. #® Shift+Ctrl+A

4. ® Ctrl+Alt+5hift+4A

Question Number : 91 Question Id : 3354726021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich one of the following keys is used to maximize the active window? | TR & & forg =it @7 U glred

Options :

1. ¥ Windows Logo Key + Home Key

2. #® windows Logo Key + Spacebar Key
3. ¢ Windows Logo Key + Up Arrow Key

4. ® Windows Logo Key + Down Arrow Key

Question Number : 92 Question Id : 3354726022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which shortcut key is used to make the selected text underline in MS Word? | TRUE 92 H, deige Y M7 ¢gqe &1
SIETATGH T & 1ol T ATeehe il T SULNT Tl ATaT 27
Correct: 1 Wrong : 0

Options :

1. ¥ Ctrl+l
2. 8 Ctrl+]
3. ¢ Ctrl+U
4. ® Ctrl+Alt+K

Question Number : 93 Question Id : 3354726023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following protocols helps to transfer files between computers? | FaHRET # & ®19 @1 W@ ia

FHUYLR o He BTErd Iam H GgTad g1al 57
Correct: 1 Wrong : 0

Options :

. ¥ FTP
. ® HTTP

1
2

3% FTTP
4. ¥ HTP

Question Number : 94 Question Id : 3354726024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Frequency is measured in _____. { ThTepeleT (STl T ______ H AT ST 3
Correct : 1 Wrong : 0

Options :

1. ¥ Hertz | §¢H
2. ®¥ Baud | d@1g
# Bandwidth | dsfaer
4. ® Yolts | G

w

Question Number : 95 Question Id : 3354726025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A mic_rocomputer consists of at least an input urit, an output unit, a I'ﬂiCI'OpI‘OCGSSOI‘ unit, anda______. | O&
FH H FH T AU gjve, U ATITYT Ji-e, UF HISH et e qaTUd ______ dFATEET 8l
Correct : 1 Wrong : 0

Options :

1. ¥ memory unit | BRI AT
2. ® network | Azad

#® printer | iz

4. ¥ stabilizer | GeTHATE

w

Question Number : 96 Question Id : 3354726026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The term gigabyte refers to: | J&g TMaTEe HHF ®1 Ggiad #aT s
Options :
1. ¥ 1024 bytes | 1024 azT
2. ¥ 1024 kilobytes | 1024 fralange
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3. ¢ 1024 megabytes | 1024 ATEET
4. ® 12121 megabytes | 12121 AMEET

Question Number : 97 Question Id : 3354726027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Searching for information on the internet (or simply exploring the Net) is known as: | ECTAT (AT AT +T @l
P TR T &1 G AT T &0 H AT AT 8

Correct :1 Wrong : 0

Options :

1. ® Internet explorer | AT THFATART
2. ® Browser | SIT3wK

3. ¥ Modem | HieH

4. ¢ Surfing | g

Question Number : 98 Question Id : 3354726028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following characteristic(s) of computer make their use attractive? | HET &l MHATGRET § & @19 df
TerSwaT S JULNT ST TG a-Td T 52

Correct : 1 Wrong : 0

Options :

1. #® Storage and retrieval of information only | &T HT GERAHSROY FAT RETETA (G WTTH)
2. ® autornatic operations only | Fae TEHRE ATRIT

3. ® Accuracy and speed only | URgdT 0a Tid

4. ¢ Al of the above | IWIEHT a4

Question Number : 99 Question Id : 3354726029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Excel, the content of the active cell is displayed in _____ .| UFad ®, Ufged Gt @l faueeg
Correct: 1 Wrong : 0

Options :

1. ® Footer bar | BT ar

2. % Tool bar | TA &R

3. ® Task bar | TEF a)

4. ¥ Formula bar | BTHAT &K

Question Number : 100 Question Id : 3354726030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

22nd Dec 17 Shift 2



22nd Dec 17 Shift 2
Correct : 1 Wrong : 0

________ is a type of page orientation in MS Word 2007. | UAUH &g 2007 H,
Options :

1. ¥ Bullets | geicd
2. ¢ Landscape | deq@y

3. ® Clipart | fFamené
4. ¥ Macro | 8@l
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